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1% exercise: (4 pts)
Choose with justification the correct answer:
Answers
No. Questions
a b c
The area of triangle ABC is
c
///"@\\
1. - \ 2+/3cm? 4/3cm? 12cm?
/ ‘\\
./‘ﬁq \\h.
2 - dcm =-F
313 _ g12 3
2. [fE=———,thenE= — 0 3
2 2
If RNSK is a parallelogram, then x°=
'H M
3, " j 60° 80 120°
; &
K 3
4. [1f 47 x 2" x 2° =8, then x= 23 -1 !

2~ exercise: (4pts)
Consider the following numbers:

2 7 -4
A :1_(3) B =(2-5) +2(8+120) ; € = 2D XAD
5 \5 4x10
By writing all the steps of calculations:
1) Write A in the form of an irreducible fraction then in scientific notation. (1pt)
2) a. Show that B is a natural number. (1pt)
b. Show that C is an integer. (1pt)
3) Show that among A, B, and C, there are two opposite numbers and two reciprocal numbers.

Justify.(1pt)
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3 exercise: (3pts)
Given the following numbers:

X =275+ 348 + 2427 — 24363 & Y:(2+3J§)Z+(2J§—3)(2J§+3).

1) Write X in the form ay/3 and Y in the form b+cy/2 where a, b, and c are integers to be
determined. (2pts)

2) Rationalize the denominator of % . (1pt)

4% exercise: (6pts)
Consider the following polynomial:

N (x)=4x?—(2x —=3)" —2(x —1)(3-2x)-9.
1) Develop N(x). (¥ pt)
2) Prove that N(X)can be written in the form N (X):2(2X —3)(X +2)in two different

ways.(1%2 pts)
3) Calculate the numerical value of N (—2) .What can you say about X = —27? Justify. (% pts)

4) Let R(X)=(2m+1)x* —3mx—4.
a. Find the value of M, if -1 isa root of R (X ). (% pt)

b. Write the expression R (X)as a product of two factors, in case M =0, then solve the

following equations:
i) R(x)=-2 ii) R(x) = (2x + 4) (Ya . Va, %4 pts)

5) a.IfK(X):IS(())(())

,then find the values of x for which K (X ) is defined. (2 pt)
. 3
b. Solve the equation K(x) = 2 (% pt)

5t exercise: (5pts)

Consider a parallelogram ABCD such that AC= ABand let M be the midpoint of [ BC].

1) Draw a figure. (Y2 pt)

2) Show that (AM) L (BC). (% pt)

3) Plot £, the symmetric of A with respect to M. What is the nature of quadrilateral ABEC? (1pt)
4) Show that the points D, Cand F are collinear and that C'is the midpoint of [ DE]. (2pts)

5) Show that triangle DAE is right at A. (1pt)

6™ exercise: (8pts)
Consider an isosceles triangle AMT at vertex M. H is the fourth vertex of the parallelogram MATH.

Let [My) be the bisector of AMT that cuts [AT] at O, & let R be the symmetric of M with respect to O.
1. Reproduce the figure and complete it. (1 Y2 pts)

Vi !
2. a. What does the straight-line (MO) represent for [AT]? Justify. (1pt) '

b. Determine the nature of quadrilateral MART. (1 %2 pts)

c. Show that MH = 2TO. (1pt)
3. LetI be the midpoint of [MH]. Show that TOMI is a rectangle. (1 Y2 pts) H T
4. How should the nature triangle AMT be changed so that

MART becomes a square? Explain your answer. (1 %2 pts)

Good Work,
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